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<TH RN 46>

> groupN_age = c(23,26,24,20,23,20,19,23,25,16,22,18,25,24,18,21,21,25,23,19,17)
> groupN_age

[1] 23 26 24 20 23 2@ 19 23 25 16 22 18 25 24 18 21 21 25 23 19 17
> shapiro.test(groupN_age)

Shapiro-Wilk normality test

data: groupN_age
W = 0.95135, p-value = @.3611

<HEYy 46>

> groupK_age = c(20,19,21,20,19,19,18,20,21,19,22,20,20,19,20,17,16,20,18,22,19)
> groupK_age

[1] 20 19 21 29 19 19 18 20 21 19 22 20 29 19 20 17 16 20 18 22 19
> shapiro.test(groupK_age)

Shapiro-Wilk normality test

data: groupK_age
W = 0.93945, p-value = 0.2125

N—tLy FRE

> groupN_age

[1] 23 26 24 20 23 20 19 23 25 16 22 18 25 24 18 21 21 25 23 19 17
> groupK_age

[1] 2@ 19 21 20 19 19 18 20 21 19 22 20 20 19 20 17 16 20 18 22 19
> data<- c(groupN_age,groupK_age)
> group<- c(rep("groupN_age",21),rep("groupK_age",21))
> data

[1] 23 26 24 20 23 20 19 23 25 16 22 18 25 24 18 21 21 25 23 19 17 20 19 21 20 19 19 18 20 21 19 22 20 20 19 20 17 16 20 18 22 19
> group

[1] "groupN_age" "groupN_age" "groupN_age" "groupN_age" "groupN_age" "groupN_age" "groupN_age" "groupN_age" "groupN_age"
[10] "groupN_age" "groupN_age" "groupN_age" "groupN_age" "groupN_age" "groupN_age" "groupN_age" "groupN_age" "groupN_age"
[19] "groupN_age" "groupN_age" "groupN_age" "groupK_age" "groupK_age" "groupK_age" "groupK_age" "groupK_age" "groupK_age"
[28] "groupK_age" "groupK_age" "groupK_age" "groupK_age" "groupK_age" "groupK_age" "groupK_age" "groupK_age" "groupK_age"
[37] "groupK_age" "groupK_age" "groupK_age" "groupK_age" "groupK_age" "groupK_age"
> bartlett.test(data,group)

Bartlett test of homogeneity of variances

data: data and group
Bartlett's K-squared = 8.5917, df = 1, p-value = 0.003377
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> t.test(groupN_age, groupK_age, var=F)
Welch Two Sample t-test

data: groupN_age and groupK_age
t = 2.8654, df = 29.495, p-value = 0.007605
alternative hypothesis: true difference in means is not equal to @
95 percent confidence interval:
@.5871557 3.5080823
sample estimates:
mean of x mean of y
21.52381 19.47619

7N — 7 DERMCONT, Y ER-TANIREZTo72LTH, EBHD p>0.05
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D, FoXICESHED DB LRF AP0, XDRD, T2 AT O UREERTok L
25, p<0.05 EWwIHfERICR o7z, IRIEREGIIBEE S W, W7V — 7 icEs T 2 i
DVIEHEICHEREDVH D LT X %,

VEHED O
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<Th AR >

> groupN_height = c(156,165,162,155,157,159,155,155,164,159,154,156,163,154,159,160,160,162,159,158,152)
> groupN_height

[1] 156 165 162 155 157 159 155 155 164 159 154 156 163 154 159 160 168 162 159 158 152
> shapiro.test(groupN_height)

Shapiro-Wilk normality test

data: groupN_height
W = 0.96677, p-value = 0.6609

<Py 46>

> groupK_height = c(162,153,154,156,162,159,162,157,161,167,166,156,158,159,171,156,165,164,169,166,166)
> groupK_height

[1] 162 153 154 156 162 159 [162 157 161 167 166 156 158 159 171 156 165 164 169 166 166
> shapiro.test(groupK_height)

Shapiro-Wilk normality test

data: groupK_height
W = 0.96525, p-value = 0.6274
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> data<- c(groupN_height,groupK_height)
> group<- c(rep("groupN_height",21),rep("groupK_height",21))
> data
[1] 156 165 162 155 157 159 155 155 164 159 154 156 163 154 159 160 160 162 159 158 152 162 153 154 156 162 159 162 157 161 167
[32] 166 156 158 159 171 156 165 164 169 166 166
> group
[1] "groupN_height" "groupN_height" "groupN_height" "groupN_height" "groupN_height" "groupN_height" "groupN_height"
[8] "groupN_height" "groupN_height" "groupN_height" "groupN_height" "groupN_height" "groupN_height"” "groupN_height"
[15] "groupN_height" "groupN_height" "groupN_height" "groupN_height" "groupN_height" "groupN_height"” "groupN_height"
[22] "groupK_height" "groupK_height" "groupK_height" "groupK_height" "groupK_height" "groupK_height” "groupK_height"
[29] "groupK_height" "groupK_height" "groupK_height" "groupK_height" "groupK_height" "groupK_height” "groupK_height"
[36] "groupK_height" "groupK_height" "groupK_height" "groupK_height" "groupK_height" "groupK_height" "groupK_height"
> bartlett.test(data,group)

Bartlett test of homogeneity of variances

data: data and group
Bartlett's K-squared = 2.4048, df = 1, p-value = 0.121
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> t.test(groupN_height, groupK_height, var=T)
Two Sample t-test

data: groupN_height and groupK_height
t = -2.2753, df = 40, p-value = 0.02832
alternative hypothesis: true difference in means is not equal to @
95 percent confidence interval:
-5.8446190 -0.3458572
sample estimates:
mean of x mean of y
158.2857 161.3810
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